H & 0l & AHS B Ml A

SH: DEHFY
¥ nSAL(LSLSF/USNS - =F[SIIE)
Sl WSTI EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSHF 29,429,518 25,608,540 3,820,978
= 362,480
N 162,000
= 626,755
Al 26,087,883
= 2,190,400
ns2el(nsSYEF/UELSE - 2FSIIEY 21,667,527 23,544,910 1,877,383
= 362,480
N 162,000
== 626,755
Al 18,325,892
= 2,190,400
IMESELES 4,787,280 4,023,172 764,108
= 227,480
N 90,000
s 85,060
Al 2,334,740
= 2,050,000
nsSLet 1,778,280 1,622,112 156, 168
201 er23| 13,600 10,300 3,300
01 AtR2t2|HI 13,600 10,300 3,300
ONEOHHYMAAS| &A Sg
100, 00021 +82 *13] 800
OBSSAINLI RS &A Lo
100,0003*6& *13] 600
OHAIZRAAS| B 2
100,000& »7 & »23] 1,400
Ousetl 82= M 5,900
—uS 2 SE=S Y
500 *7,0000HK 3,500
~DE 2 B2 H2% HH
60,0002 *403] 2,400
OO0 U sIZNSHBE 51T, HA S
ol 5002 *1,6000H*25 1,600
OXMESFHE 2l 1,300,000 *14] 1,300
OOIAZH DE OHY 340t MK
2,000,000& *14] 2,000
207 ARl 35,000 54,000 219,000
01 H2E4H| 35,000 54,000 19,000
OAlUH A AL3AHZAN & 2S00 &F
83 19,000,000 * 14 19,000
O8Xcd NSEXIAL Y
16,000,000 * 14! 16,000
301 LEIE NS 1,658,240 1,524,212 134,028
11 dALEEIXIE S 16,500 16,500 0




A DEBED
M. pNEZ(WSLER/UENE - 2FSIIE
Chol: DEMH CERE)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ORYE24SAMA nsHEX] AE
16,500,000 & * 14! 16,500
14 J|EI2 A= 1,641,740 1,507,712 134,028
QUENIIZO0 2H
40,0003 x32H* 190 243,200
OHA, €Al 0|8 9FABE =2 641,020
—&ANEHA E2H|
120,000 58CH* 128 83,520
— &M A 43| 7,500,000& * 1A 7,500
—E8Al E2H| 100,000 #450CH* 12& 540,000
—EHAl BT 10,000,000& =14 10,000
Qunsote 249 X 433,200
—WESIIEAE oI X
1002 *1,800,000H 180,000
—WSIIE AIBxE A3
2,000,000,000=&%15/1,000 30,000
~DEIIC 2285 N
1,4002/*x130,000H 182,000
—WEIIE S2I| KAIEZ=H|
70,000& *55CH*12& 46,200
O"Al FIEZMD| & 89 K& 210,600
—IIIEZHI| & SAAES
11,0002 *450CH* 128 59,400
—IJIEZ M| AIESEE
28,000& *450CHx 128 151,200
O"YAl SHEH K&
15,0002 *450CH x 128 81,000
OYOIEAl 24 AIAH HRHE XK (ED]
2%) 70,000& *33¥ + 12& 27,720
307 21Z2t0| ™ 35,600 33,600 2,000
02 QIZFBAMAIIE X 35,600 33,600 2,000
OFXEAN 22tz HEE=s X(BEXE8 8
%) 4,500,000& *141%80/100 3,600
OHZTESS B3 Y NETN 2 N
AN (EES HH) 22,000,000& *1AH 22,000
ONelo| Sotn WEXNE ¢ HE=Es X3
AL (BES HoH) 4,000,0002 14! 4,000
QUECHH ACIEUg XM (BXS
X oK) 6,000,000 * 1Al 6,000
402 SIZEXHE01 A& 35,840 35,840
01 QI EAIE E X (KHMITHS) 35,840 35,840
OEAl XA JIEZ WD EX X (EX8
80%) 160,000 *280CH*80/ 100 35,840
(2)2Z2SEAl XIAS 300,000 300,000 0
Xl 40,000
Al 110,000
= 150,000




A nSHEL
¥ nSAL(LSLSF/USNS - =F[SIIE)
=9l WSEI EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 300,000 300,000 0
N 40,000
Al 110,000
= 150,000
14 JIEt2 = 300,000 300,000 0
OBl MM (BZSA 2 2A)
300,000,000 * 14 300,000
N 40,000
Al 110,000
= 150,000
(2)33SEHA XA 530,000 458,000 72,000
N 50,000
Al 50,000
= 430,000
307 212+01& 530,000 458,000 72,000
N 50,000
Al 50,000
= 430,000
09 2FHHEXS 530,000 458,000 72,000
OZ38HA & 530,000,000 *14] 530,000
Xl 50,000
Al 50,000
= 430,000
+=28HE WsSUsS MAY 2= & 29 5,400 5,400 0
308 AtXIEMSOIE 5,400 5,400
18 SIS B ASAI I 5,400 5,400
OZSEEAl SE2elAAY | 2
5,400,000 * 14 5,400
(B)SEnSH7Y 49,000 46,000 3,000
= 24,500
== 7,350
Al 17,150
405 KHaHE SH 49,000 46,000 3,000
= 24,500
= 7,350
Al 17,150
01 T ESFISHI 49,000 46,000 3,000
OSgRELSH 72 X
49,000,0002 *1CH 49,000
= 24,500
= 7,350
Al 17,150
(Z)DEXN2HEGI R B RIMIEIE 21,000 20,000 1,000
[ 6,300




SH: DEHFY
¥ nSAL(LSLSF/USNS - =F[SIIE)
=9l WSEI EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,700
301 EtE NS 21,000 20,000 1,000
=S 6,300
Al 14,700
14 0Bt 2as 21,000 20,000 1,000
OngXt 28H6 Adgtd CIMEIE
21,000,000 *14{ 21,000
< 6,300
Al 14,700
(2)DBN2EHHA X B LB A SIALY 15,600 22,000 26,400
= 4,680
Al 10,920
301 EtE NS 15,600 22,000 26,400
= 4,680
Al 10,920
14 0Bt 2a3 15,600 22,000 26,400
Onglt 2836 NEEHE 2HESIALY
15,600,000 *14{ 15,600
= 4,680
Al 10,920
()AL T2 A 1,041,000 795,000 246,000
= 66,300
[ 46,410
Al 108,290
= 820,000
301 EtE NS 1,041,000 795,000 246,000
= 66,300
= 46,410
Al 108,290
= 820,000
14 JIEt2 8= 1,041,000 795,000 246,000
OSAIZ R E & X3S
1,041,000,0003 * 14 1,041,000
= 66,300
== 46,410
Al 108,290
= 820,000
(2)Sgns+¢ 23| 850,000 730,260 119,740
= 100,000
Al 100,000
= 650,000
307 gl2to| & 850,000 730,260 119,740
= 100,000
Al 100,000




SH: DEHFY
¥ nSAL(LSLSF/USNS - =F[SIIE)
=9l WSEI EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 650,000
05 212t =S 850,000 730,260 119,740
OSEgusS=t =gl
100,000,000 * 14! 100,000
= 100,000
OSEnS+c 2SHI(XHA)
750,000,000 *14] 750,000
Al 100,000
= 650,000
(F)HSnSHl SSXAA 64,000 15,400 48,600
= 32,000
Al 32,000
308 AHXIEMSOIH 64,000 15,400 48,600
= 32,000
Al 32,000
18 SIS0t HAS A 64,000 15,400 48,600
OtisusHl =X
64,000,000 *14! 64,000
= 32,000
Al 32,000
HEnE PRSI JAAIAE 29 50,000 0 50,000
308 XXM SOIA 50,000 50,000
07 AX L= 50,000 50,000
OUERE 2221 ALY 22|
50,000,000& » 14 50,000
(DIHEREPSSIHNA(FtELZHI) 83,000 0 83,000
S 25,000
Al 58,000
307 @120l & 83,000 0 83,000
== 25,000
Al 58,000
02 LB AANHEE 83,000 0 83,000
OlsusS RESX JtEE St
83,000,000 * 14| 83,000
== 25,000
Al 58,000
Z2EA 2kl 12,153,335 12,634,860 N\481,525
= 135,000
Xl 72,000
=S 229,715
Al 11,576,220
= 140,400
28 28N 5,483,698 5,483,698 0
307 el2tol & 5,488,698 5,483,698




A nSHEL
¥ nSAL(LSLSF/USNS - =F[SIIE)
CHel: 2EAY 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
09 2+AE2LS 5,488,698 5,488,698 0
O RIERS(EEXE FH) 5,488,698
= ES 380.092%1,500,000 £ 570,135
—EHAl 197.97:& 3,900,000 £ 772,083
—3= 345.543%12,000,000 ¢ 4,146,480
B2 =dd2te] 5,250,000 5,750,000 A500,000
307 glztol & 5,250,000 5,750,000 A500,000
09 2+AE2LS 5,250,000 5,750,000 /500,000
OsHEHA Hisdd ZEBX(EXE
) 5,000,000,000& *14] 5,000,000
OHA HARIH A0 e BEEXR(E
=8 YY) 250,000,000 *14] 250,000
(2)ANUHLSHEHA2SSAIETHE XIZ 183,596 216,860 A33,264
< 91,798
Al 91,798
307 lztol & 183,596 216,860 A33,264
= 91,798
Al 91,798
09 2s-gAHAELES 183,596 216,860 N33,264
OAU & sHEHL HE & Z2&X3
183,596,000%*153 183,596
= 91,798
Al 91,798
HAZEAIAEZSA 239,275 248,521 N9,246
201 2= 7,800 6,750 1,050
2 S524g4l 7,800 6.750 1,050
OHAZEBOHIIIBIT) IS
650,000& 122 7,800
308 AHXIEMSOIH 132,475 116,771 16,704
18 SIS0t A AS A 132,475 116,771 15,704
OHAZBAIAE(BIS) RAIE=H
132,475,000 *14] 132,475
403 AXIEHMSAH=201d 99,000 125,000 A\26,000
02 SVI2S0 U H=E 2 EAIEI 99,000 125,000 226,000
OHAHEZOHHII(BIT) X At
99,000,000 * 14! 99,000
(SN s0HE HA HHEHIXEXIZ 45,000 75,000 230,000
= 7,920
Al 37,080
402 2I2F X201 & 45,000 75,000 230,000
= 7,920
Al 37,080
02 RIENZASE X (01 THR) 45,000 75,000 /30,000




SH: DEHFY
¥ nSAL(LSLSF/USNS - =F[SIIE)
Eel: 25AE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANUISOIEHA HHEIXH X
15,000, 000 *3CH 45,000
= 7,920
Al 37,080
SASHIEZ2CIANAEY 2 5,430 5,128 302
308 AtAIEMSOIE 5,430 5,128 302
183 SIS B XA AIE 5,430 5,128 302
OHAI2HES2CIAAE 2 AZHl X
5,430,000 * 14 5,430
()8R R 303,390 253,853 49,537
N 72,000
== 21,360
Al 210,030
307 212+01& 303,390 253,853 49,537
N 72,000
S 21,360
Al 210,030
09 2FHHEXS 303,390 253,853 49,537
OgXx=d K& 303,390,000 *14] 303,390
N 72,000
= 21,360
Al 210,030
(D)USAKNE 26 MaHA AT 410,400 460,000 A\49,600
= 135,000
= 40,500
Al 94,500
= 140,400
402 QI2F X201 & 410,400 460,000 249,600
= 135,000
== 40,500
Al 94,500
= 140,400
02 QI X2 AL E R (01X THE) 410,400 460,000 A\49,600
OMEATE 28 HAHA FAXI
136,800, 0002 *3CH 410,400
= 135,000
= 40,500
Al 94,500
= 140,400
(S)H U SE DL 22N S A 13,400 16,800 23,400
= 3,900
Al 9,500
402 2I2F X201 & 13,400 0 13,400
= 3,900




SH: DEHFY
¥ nSAL(LSLSF/USNS - =F[SIIE)
CHel: 2EAY 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,500
02 QI XHE AL E R (01X THE) 13,400 0 13,400
OOIHRISHIEDIS EHME A
13,400,000 * 14! 13,400
== 3,900
Al 9,500
() ZHAIRHMXIZ 33,000 30,000 3,000
= 9,900
Al 23,100
402 QIF X201 & 33,000 30,000 3,000
= 9,900
Al 23,100
02 QI XHZ AL E R (01X THE) 33,000 30,000 3,000
OL-FHAI DMK 1,500,000& 22CH 33,000
=S 9,900
Al 23,100
(Z)HARSIE O LR A 97,000 90,000 7,000
< 29,100
Al 67,900
307 lztol & 97,000 90,000 7,000
= 29,100
Al 67,900
09 2+ AHAELS 97,000 90,000 7,000
OWAXSAEOIE K&
97,000,000 *14] 97,000
=S 29,100
Al 67,900
(D)2 HIIHA 2EH X2 (A A) 50,000 0 50,000
< 15,000
Al 35,000
402 QIF X201 & 50,000 0 50,000
= 15,000
Al 35,000
02 QI X2 AL EE(0IETHE) 50,000 0 50,000
O2+g2 &JIHA 2| X2 (HAH2A)
50,000, 0002 1CH 50,000
= 15,000
Al 35,000
(Z)EAMHA AR SSHSEX SXX2 9,146 0 9,146
< 2,737
Al 6,409
402 QI2F X201 & 9,146 0 9,146
= 2,737
Al 6.409




A DEBED
¥ nSAL(LSLSF/USNS - =F[SIIE)
Eel: 25AE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI TH2AILEE (01X THE) 9,146 0 9.146
OBNHA ARXIN SSHLEX EXIXSH
9,146,000 x14] 9,146
= 2,737
Al 6.409
(Z)MAHA 228 X 25,000 0 25,000
=S 7,500
Al 17,500
307 @I2to| & 25,000 0 25,000
== 7,500
Al 17,500
9 2= AHEXS 25,000 0 25,000
OM&HA 24| X2
5,000,000 +5CH 25,000
= 7,500
Al 17,500
wWSAIE eZ 3 4,703,162 6,863,884 N2,160,722
= 311,980
Al 4,391,182
wWSAE=S 2 3,719,550 3,636,700 82,850
201 fer=3| 297,300 287,700 9,600
01 At 22|l 32,100 34,500 A2,400
OLEHTAILE &1 ANEE(82, &
28) 50,000& *202] 1,000
OUSAL] g 225 M= 31,100
—LEDE &S 10,0002 *200H 2,000
—AEAH S 10,0002 %3004 3,000
—BEALK 5,000 *400H 2,000
—ORZ X0l 18,0002 *600H 10,800
—OFZEA 6,000 *250H 1,500
—ASHM R4 15,0002 *200H 3,000
—O{2I 02t R4k 8,0002 =1, 100K 8,800
2 S524g4l 265,200 253,200 12,000
OCusSAEzE d)| & Stes 217,200
—ss &dJILs
12,000, 0008 * 122 144,000
—ADIEHHEE, 22 ®)|Q2
4,600,000 ~12& 55,200
—ADERHEE, 22X SAQ2
1,500,000& «12& 18,000
ORQlEItet RAl2e 48,000
—ZIIHAHI(AS, n=)
2,000,000 *5CH 10,000




2A:
PSER
o e

el

wWSHI L
ns2el(RSLSR/USLE -
wWEAE S3FH|

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZIIZ A (D)
1,300,000 *20CH 26,000
—Stg 40,0002 «25CH* 1290 2 12,000
207 ARl 22,000 22,000
01 S| 22,000 22,000
O0e0I2S 7Y AL B
22,000,000 * 14| 22,000
401 AlZHIZL S0 3,400,250 3,349,000 51,250
01 Al&H| 3,395,250 3,344,000 51,250
OZU A5 |AEx
800,000 100K 2= 80,000
OoZU Z=Es RAE=
560,000 »1007H 2 56,000
OAIZ M0 WAl
12,000, 00021 %47H 4 48,000
OS8AS)| AL U Pa
770,000 250K 2 19,250
O==dsJ & EF WAl
60,000,000 *5IH 2 300,000
OLBEA e Hi 1,335,000
— =AM 330,000
S 30 4,000& *27,500m 110,000
HIRIE 70% 2,0002 %110, 000m 220,000
—Zele(REA) EXI(F2UF0I0A) 5,000
S 100% 4,000 *1,250m 5,000
—SIIAIIHA 100,000
S 30 4,000& *10,000m 40,000
HIRIE 70% 2,000&+30,000m 60,000
- 2AEZ 170,000
S 30% 4,000& =30, 000m 120,000
- HIOIE 70% 2,00024%25,000m 50,000
—LHEAl 22EA 130,000
COEA RIH(RO)
10,000& +6,000m 60,000
HIE 2,000& *35,000m 70,000
—=2&, 8k, 2k, sEk= 600,000
- HIOIE 2,000 *300,000m 600,000
Oz wNSEXE | 2=
250,000 *4009H 2 100,000
OL2DEENT AL - DR 40,000
— &I (LhRIAL, B AL
5,000,000 *47H 2= 20,000
b INIE-E)
2,000,000 *100H 2~ 20,000
OusSHd eI 5 &2d A4 - WK 199,000




FA WS
YA WS
mi=S

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—E(LoIA, Z=A)
5,000,000 *200H 2 100,000
—AE(2RA S)
3,000,000 *30IH £ 90,000
—2XHX S 300,000 3004 A 9,000
ONFA RRUKE(2H o= o 28
B &l £X 30,000,000 %57 2~ 150,000
OBt s X
70,000, 00024 +47H 2 280,000
OO0ISA R0IErast Al
5,000,000 x2JH 2= 10,000
Og+=2g &2 4X 180,000
—Gel2 AtAel 2 54
25,000,000 *6IH 2 150,000
—olED o BERE HOYT MX/(FD
00l 4) 30,000,000 *1H 2~ 30,000
OJe% L@ &5 L0l LXI(FLHOI
&) 20,000,000& *10H 2~ 20,000
ORSAZADIE U SEHAXIE AL
H 20,000,000 *3JH 2 60,000
OZUFZX=A+2t e
500,000 40K 2 20,000
OHA s2d &1 & 01d 100,000
—CAE HAsEE
10,000, 0002 %5H 4 50,000
—SES WASYE
10,000,000 *59H 2 50,000
OsZd HXE 2 AMEE Yl
1,000, 0002 x387H 2 38,000
OBIAZZE S8 AEIH HIZ(Z012010)
&) 100,000 %1094 2 1,000
OADIESYH &%
50,000,000 *6IH 2 300,000
OADESTE Tl 2 B4
3,000,000 1374 2~ 39,000
OADIESYE NAHSKZA
20,000,000& * 14 20,000
03 AIESTHYI 5,000 5,000 0
OuSHEAId= § €X € RAE=
5,000,000 * 14 5,000
nNSEN =g 277,012 242,374 34,638
101 @124H| 80,358 9,261 15,908
M ORNZZ2NSE S 80,358 96,261 15,903
O=Y = X ¢H2=2 78,958
-2 80,2403 x4 x198 63,551
-5+ 80,2403 x4 30 12,518
—EX==E 80,2403 x4 H+0E 2,889




A NSHAD
M NSA(LELER/UBLE - SFSIIEY)
Rl WEAE SFFH (SH9 H2)
SA - H - S9I(SH) - HRAY - BAS of e A 2
OsY F - Xt Hx02 TISHI(J12HA) 1,400
-s= 150,000 x4 H* 15 600
—ot= 100,000 x4 H 2% 800
201 B2 AL| 126,512 121,014
01 ArR22ltl 15,891
O2Y = Fx o= Ol AH 6,500
—2IBtAtA EXIA 130&*10,0000H 1,300
— A& SXIA 130&%10,0000H 1,300
—=ER20XA 130&%10,0000H 1,300
—=E(ME)2XA 130&*10,0000H 1,300
—=SKA 130&*5,0000H 650
—HEEEE MH 130&+5,0000HK 650
OsY - dx =02 HISsHI(FRE) 2,340
—-=5 150,000 3«6 F * 12+ 900
—ot= 100,000 *6 H *2=+ 1,200
— 209 20,0002 6% x2 = 240
OunEgEAMd A 6,100
—s9 60,0002 =101 +63] 3,600
=1zt L N 5,000& 2004 1,000
—= - dX3X 2L
100&*35+5,0000H 1,500
=Y F AN BR0lR Qs (S
Ar24!) 951
—HNEF 10,0003 *35+ 128 360
—HLEE 10,0002 x35+12& 360
— MY DS E(50L) 960 +20& 123 231
02 3324l 110,621 104,343
O2Y F - AXt RLAHSAIAH(CCTV) ®IIR2
=l 20,000 =270+ 123 6,480
Os8 = - Xt ROUHZAIAE(CCTV) SAIAL
== 100,000 »27CH* 123 32,400
O 7 I O 2 ALY BHE 2
SeAESE 3,120
—SHEHAIEZ 110,000& 122 1,320
—SHAES 150,000« 12& 1,800
O=28 = FX RHS Jtiet SXNE=> 52,150
— &4 CCTV 135,760 »26CH* 123 42,358
—0l=4! CCTv 408,000 x2CH+12& 9,792
OSSHX Xtztztel RN N
370,000& =123 4,440
O2Y = X HSYSAAE RIS
636,670« 123 7,641
O=2Y = ZX MEis ¥ PCEX Xt 2
g DN RERZ 4,390




SH: DEHFY
¥ nSAL(LSLESF/USNS - =F[SIIE)
&2l WSAIE S$3E (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
U UER=s 43023802 * 122 1,961
—SII9H 2&e3
2,530 +8021x 122 2,429
401 Al HIZ R OHHI 70,142 23,59 46,543
01 AlZ8| 70,142 23,59 46,543
so = FASNEXNE &1
5,000,000 * 14 5,000
O=H = - X 134 HEALE 50
2 ==&H WA 65,142
—&SHE (ML) 50,344,000 x14] 50,344
— It 3,513,000 * 1K 3,513
—HEESEX 1,582,000 1H 1,582
—QH N 2t 3,108,000 3 9,324
—XEE 378,320 14| 379
(Z)UBI0IES 7Y HEAMS (HEALY) 200,000 600,000 400,000
=S 100,000
Al 100,000
401 AIEHIZ SR OHYI 200,000 600,000 400,000
< 100,000
Al 100,000
01 Al&HI 200,000 600,000 A400,000
OB 0IES AN AL
200,000,000& x14] 200,000
= 100,000
Al 100,000
(Z)cE252H HEAIS (HEALY) 100,000 300,000 200,000
=S 50,000
Al 50,000
401 Al HIZ R 0HbI 100,000 300,000 200,000
== 50,000
Al 50,000
01 Al&H| 100,000 300,000 200,000
COIESAHIRL AL
100,000,000 *14] 100,000
= 50,000
Al 50,000
(Z)RETALEES ALY 141,000 173,000 /32,000
S 42,300
Al 98,700
401 AlZHIZ SO 141,000 173,000 /32,000
== 42,300
Al 98,700
01 Al&HI 141,000 173,000 A32,000




SH: DEHFY
¥ nSAL(LSLESF/USNS - =F[SIIE)
&2l WSAIE S$3E (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OExz8 =C8C &
35,000,000 * 100 2 35,000
= 10,500
Al 24,500
Obtgd 2gidis s £X
59,000,000 *1IH 2 59,000
< 17,700
Al 41,300
OADIE BXI2 22I0]
35,000,000 * 100 2 35,000
= 10,500
Al 24,500
O8sg 2Xd 120,000 » 100K 12,000
== 3,600
Al 8,400
(Z)0tS Y Adord REAY 65,600 78,400 212,800
= 19,680
Al 45,920
401 Al HIZ 2018 65,600 78,400 212,800
= 19,680
Al 45,920
01 AlZH| 65,600 78,400 212,800
OlI2Y AHtdZ ZEAIE (4HA)
20,0003 +3,280m 65,600
s 19,680
Al 45,920
(Z)HMEHE S AT LA (M EALY) 200,000 1,800,000 1,600,000
= 100,000
Al 100,000
401 Al HIZL 201 200,000 1,800,000 1,600,000
= 100,000
Al 100,000
01 Al&H| 200,000 1,800,000 1,600,000
OAIEZBtAIA (228 S &XI)
200,000,000 * 14 200,000
=S 100,000
Al 100,000
gs=2l 23,750 22,994 756
AL A 2t 23,750 22,994 756
201 el 23,750 22,994 756
01 Al222lH] 17,510 15,150 2,360
O2E QIRMAL 014y 14,030
~NEXNSE 2 A4
1302 *35*9,0000H 3,510




A NSHAD
Ha: DEe(DSUSH/USLS - SRSIIEN
o2 EFsE2e (SH &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
—KSXEIBAF HA
12024 %225+7,0000H 1,680
~ TSR DE A4
1202 +23+7,0000H 1,680
—ASxSE2E BEHS20 AN
1202 x10&*1,5000H 1,800
—ALIHSE B M
120& 95 +2,0000H 2,160
—HEIIHEZBA HAS
3,200!*1,0000H 3,200
OXNYSEZD JI=28W APEEY| 3,480
—=ASX 7Y
20,000 x28t Ax 12 480
—TRIE E(SH)
200,000 *53]*1CH 1,000
—Z2IE Ed(ZA)
200,000& 521 *1CH 1,000
—SCSEI| #=2
200,000 *23] *1CH 400
—Hog¥=0! =2lhl
300,000 x23] *1CH 600
02 3244l 6,240 7,844 A1,604
OoRERza 150,000& * 12& 1,800
ORZE2dsT AHSIIEZZ2 I =X
H el 370,000& 123 4,440
HN2HAL(LSHF W) (OIEH/DIIE 161,991 163,630 21,639
QIE 2 A 49,871 48,390 1,481
QIR AY| 49,871 48,390 1,481
101 @124l 49,871 48,390 1,481
03 SRH(RINHL) 222 49,871 48,390 1,481
O=28 = - IX tss HdREX 49,871
=Jl=3 2,590,9102* 18+ 122 31,091
—HEFIHI
2,590, 910 *75%+ 1 %23 3,887
—d2=E 2,590, 910& *50%*1H +23| 2,591
—IE=E 1,680
- B X 40,0002 *1H*12& 480
B PAE 30,0003 x 1« 12& 360
SMAHH 70,0003 *1H«12& 840
—Al2I2|2f 4
16, 12723 x150%+20A| 2t 1H * 128 5,806
—ARBEILY
129,0162 x1H 15 1,936
—ZASAHI 140,000 x1H* 123 1,680
—wWSE2AH| 100,000& x1H + 122 1,200
Jl2&l 112,120 115,240 A3,120




A nSHEL
M HYRIZH(NSHF W) (OIEH/IIEH
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H] 112,120 115,240 A3,120
201 er23 | 32,320 30,640 1,680
01 At2teltl 32,320 30,640 1,680
O=AIEXN Fd
20,0002 <202t A 12 4,800
OS2 01AHI 9,000 x7AI*x20E * 12 15,120
Ooggteg 100,000« 12& 1,200
O2n2 EN7 50,000& * 122 600
Oar2 =&l 8,200
—=S A =2l 1,000,000 *1CH 1,000
—Zeled| =2l
100,000 *4CH+50/100 200
—SADI EH 200,000 *52]*1CH 1,000
—ZelHII(5%) EU
200,000 x52|*4CH 4,000
—ZgEdI(Zel) &Y
200,000 %52 *1CH 1,000
—PC =2l 100,000 x20CH*20/100 400
—JIEt==Clbl 50,000& * 122 600
OJIEF AtR 228l
10,0002 20 * 122 2,400
202 04| 74,400 79,200 4,800
01 =LHOHI 74,400 79,200 24,800
OZLH0iH] 20,0003 x20E 122« 12& 57,600
O22| 04| 120,000 x20E 7 16,800
203 HR=H| 4,200 4,200
04 HASYAREXY| 4,200 4,200
ORA2gREY)
350,000 x 122 4,200
204 MR AH| 1,200 1,200
01 MM SR 1,200 1,200
OZUZYR+-AHBH(RSHENE)
100,000 x1&* 122 1,200
HRes(nsIM) (USESF/UHSLS - EFRSIIEY 7,600,000 1,900,000 5,700,000
AN 7,600,000 1,900,000 5,700,000
HEHeH XIS 7,600,000 1,900,000 5,700,000
701 JIEtI HSHES 7,600,000 1,900,000 5,700,000
01 JIEt=IHE ES 7,600,000 1,900,000 5,700,000
OFXESEH 823 7,600,000
—JIES SUOHIE 212 =X =4
800,000,000& *14] 800,000
—QQUNSIAHIA eI2 SEFIE X4
800,000,000 x 14 800,000
—SFxSS 22 sEFNE =4
900,000,000 *14] 900,000




A NSHAD
M HRgsS(nSHIW)(DELSF/USNE - =FSIIEH
=Sl EHHKE (S &S
= « NZH . C}2| (5 . S A IHANZ [ OH @l‘—jE Hln=2t
—HREE 02 ZAFE &4
900,000,000& 14 900,000
-3 MRl SEFXE I =4
300,000,000 * 14! 300,000
—SEFIE ZHOIES MSED 212)
1,800,000,000 & * 14! 1,800,000
—SGFIE ZH(H2BAEAOIIE
elz) 2,100,000,000& 14! 2,100,000




